AU Xz
= oLt 66.7%
AR Hsolc 33.3%
&t 0%
zzact [ NG
waoct [
0 0.5 i 1.5 2 25
HHsHA X =5kt
. o=} 66.7%
I wEo|c 33.3%
) Bz} 0%
=z [ ENG—_
waect [
0 0.5 i 1.5 2 2.5
K= YE@A, =)o M55t
oHEiC} 66.7%
BEolct 33.3%
R=si0} 0%




FESICH

=2Eo|o

PrEBHC)
0 .5 1 1.5 Z 2.5
stEof =30] Ect
7 o=sict 66.7%
R wso|ct 33.3%
R=si0t 0%
zsoct | NG
{ 0.5 i 1.5 é 2.5
= Z#o| 0|7} ALk
oxsict 66.7%
gais H
| wso|ct 0%
2E&5CH _bl'_—f—fil-l:l- 0%
orck olo
e SER 33.3%
pHEEIC) W
i 0.5 i 1.5 é 2.5
E£Z A422 & ®Mdsian
oLEsict 66.7%
BEo|ct 33.3%
REsi0} 0%




FEECH

2=o|ct

eaec |

0 0.5 1 1.5 2 2.5
2. QoI ZHA} THE L (SH)
A Asst
. oHEoict 2 667%
= el BEo|C} 1 33.3%
] 253510 0 0%
ey
ezoc [
0 0.5 1 1.5 2 2.5
HEsIA K| T8
- orEstot 2 667%
sazct HEo|Ch 1  333%
253510 0 0%
=sorct [ NN
ezuc [
0 0.5 1 1.5 2 2.5
X = W8, M=)of HEstct.
oHESict 2  667%

wEo|c} 1 33.3%



0%
_ Hxl a_l'!. O
Haszct
zzoct |G-
ezvc [
0 0.5 1 1.5 2 2.5
szol £20| =}
7 orE%ict 2 667%
CES A BEO|C} 1 33.3%
] R=si0} 0 0%
zsact [ N
eavct [
0 0.5 1 1.5 Z 2.5
2 2z 3017t ULt
g oHE%it 2 66.7%
CEL ) BEo|C} 1 33.3%
] BEsi0} 0 0%
=soict [N
szect [
0 0.5 1 1.5 2 2.5
=7 Mgg T FSHILE
oHE%iC 2 66.7%
wso|c 1 333%

wxsic} 0 0%




FESICH

=HEo|c}

BERECH

2.5

1.5

0.5

H 0| 2=

00

25

1.5




